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Instructions / fader:

e All questions are compulsory. / geft ueaT 3rfaary %ﬂ

® There are a total of 40 objective-type questions. Each question
carries one mark. Select the correct option. / el 40 d{-c_l,f:-lbo Y
e § Ucde U & fov e e fuia &1 a fowew &1 aaa #Y

e Tf there is any discrepancy in the Hindi translation of the
questions, the English version will prevail. / afe weat & T&ar 3eidre H

F1E REafa g, ar e GEor AT g

Mosses along with lichen are of great ecological importance because /
Mosses mmwmmmm%a@%

(a) They colonise barren rocks and decompose rock / I §R m W §9 A1d
& 3 "gcee = ufed = &

(b) Of their contribution to prevent soil erosion / ﬁ'{cﬁ' & Ferd H Ay H
37 ARG & HROT|

(c) Of their contribution in ecological succession / qiREUfoe 3TReR &
3T ARG & HROT|

(d) All of the above / 3G0%d T

Gemmae are asexual buds, which originate from small receptacles called

gemma cups. These are found in / A iR FHicwre 'fﬂ?—ﬂ' %, S B¢ 9ET # 3cUedd
By & [oeg ST 9 FgT T &1 T IS AT B

(a) Funaria / W‘\Tﬂw

(b) Marchantia / HATITAAT

(c) Fern / el

(d) Sphagnum / ThaaH




Which of the following statements is false for ascomycetes?
frafaf@d & ¥ FT-T1 FUF TTRARACT & T aea g2

(a) Ascomycetes consist of variously pigmented moulds
TERIATSECH faffed T el & 9 g €

(b) Thallus of Ascomycetes has aseptate, unbranched hyphae
TEhrATSHeH HT o foar fsnfera 3R f9ar @3t arer sae STl #T1 8iar &l
(c) In Ascobolous, sexual reproduction occurs by spermatisation
TSl H e olelel 2[HI0[H EaRT BT &

(d) Process of karyogamy is delayed to start dikaryophase

SRAAAT i gfshar & SO g ¢ f9ad sHRABST UF &ar gl

Gymnosperms are characterized by
SrFareara $r faQwar g:

(a) Absence of seeds

St @ Jreareatd |

(b) Seeds not enclosed in fruits
®ell # ¢ o gl drel dIST|

(c) Presence of flowers

Gt &1 3ufeafdl

(d) Dominant gametophytic phase

Y@ IFCIHIEEH T

Biodiversity can be best defined as / g fafayudr & @a@ 3<or aRA™T forar o
Hehl §:

(a) occurrence of the number and types of organisms / Shat &1 g&ar 3R R
$r g

(b) species and ecosystem of a region / Y &7 & genfa 3R wiRfeufadr o
(c) variety of life in an ecosystem / qikfEgfaehT aF & Sftasr & fafawar

(d) totality of genes, species and ecosystem of a given region / fRar feu

AT AT & SN, veitierdl 3R IRFEAfARr dF &1 For FT

Which of the following is against the rules of ICBN? / frafofaa 7 @ Hia-
AT ICBN & fauAt & favew &2

(a) Handwritten scientific names should be underlined / mﬁ@aéaﬁm
ATHAT &Y Y@ifehd fhar S @nfee

(b) Every species should have a generic name and a specific epithet / qcdh
YA &1 Uk 92 17 3R T gonnfa fawor g anfge

(c) Scientific names are in Latin and should be italicised / d<ilfeleh =T
dfes 7 gia § 3R 3¢ foveT forar s @nfge

(d) Generic and specific names should be written starting with small

letters / d 3T ganrfa AT a9 38 O Qﬁ%mﬁm

Choose the incorrect statement. / Jdd A ?:j,ﬁ'l
(a) Notochord is ectodermally derived rod-like structure. / ACIRlT TFIEH

¥ gcUeet B3 ST HITST Bl
(b) Notochord is formed on the dorsal side during embryonic development. /

HOT T & NI ACTHIS IS8T HET R T B




(c) The animals from Porifera to Echinoderms are without notochord. /
IR & TaTSaAIss deh & Il H sleihs w8l axdrl

(d) In some chordates, the notochord is replaced by the vertebral column
and these chordates are called vertebrates. / iw_i.i Eﬁé‘c}ﬂ' H ACIPIS A HATH

TAH ganT gfaeaniad fhar Sirar § 3R ¢ HAThT Tl S &l

In an inflorescence, where flowers are borne laterally in an acropetal
succession, the position of the youngest floral bud shall be: / Tdh W

#, TGl ol URAR §  ThHIUC HelshA H ool 81d &, AU AT Fol T shell 1 U
g :

(a) proximal / foded#d

(b) distal / I

(c) intercalary / HEIEY

(d) anywhere / Fer oY

8.
Which of the following statements is correct? / afoi@a # @ Sla-ar sy
e &
(a) Actinomorphic are bilaterally symmetrical flowers. / tfFearArihe
gfuredta &7 & FATAT Gl 81 &
(b) Zygomorphic are radially symmetrical flowers. / Eﬁ?ﬂ?ﬁﬁﬁm ] &
TATAT el g B
(c) Asymmetric are irregularly symmetrical flowers. / WF@HW GRS
7 & ARG 8 gl
9. [(d) A1l of the above / 3URIFd THTI
Which one of the following differentiates plant cells from animal cells? /
AT & @ @leT diul 1 HITABST T q HITABT & el AT g2
(a) Large vacuole, plastid and cell wall / El_s'PI' ﬁ%&'ﬁh—f, ‘T*l'm?:'}ﬁT FIfAepr TR
(b) Cell wall, plastid and centriole / ITAhT fﬂﬁ, WT@_S’}T\T éﬁa?r?
(c) Cell wall, plastid and mitochondria / I fATT, canf¥es 3R ABCIHI-saT
10 (d) Cell membrane, plastid and cell wall / ﬁfﬁm@wﬁ, taf¥es 3R ifAar
ot
The most abundant lipid in the cell membrane is: / CRED] @Wﬁ H gew 9
HAET # 97 Al drer fafvs g:
(a) phospholipid / PIEHITATUS
(b) starch / T
1 (c) oil / ad
(d) sulpholipid / HeWITellus
Enzyme catalysts differ from inorganic catalysts in which way? / K’GI'IE'QT
3O eI 3cat & frg g @ g1a &2
(a) Enzyme catalysts are smaller in size and lesser in weight in
15 comparison to inorganic catalysts. / USIISH 3 PR H BT IR AR H écﬁ?

gid gl




(b) Inorganic catalysts can work efficiently at high temperatures, but
enzyme catalysts cannot (except few enzymes). / 3Rl 3cUE 3T d9AT 0T

FRAAAT F H FT Hehel 8, ofchel TSISH IR w6 (FS I BISH) |

(c) Inorganic catalysts can work efficiently at high pressure, but enzyme
catalysts cannot. / 3ehiefeleh 3cUXeh 3T GoId W FACIA ¥ FF F Fehl 8, Afehel

USTSH 3cUah =igi|
(d) Both (b) and (c) / &Ml (b) 3R (o)

The lock and key concept explains the interaction of a particular enzyme
molecule with a specific substrate molecule. / dieh U5 fiT 3rgurorm frdr oy

UaeA 3] AR fafdrse wsade 30y & @ 3ia:frar & gaser §
(a) True / "I

(b) False / 38T

(c) Cannot say / 1gl &g Hehdl

= (d) Partially true or false / AP §T T AT 37T
The common phase between aerobic and anaerobic modes of respiration is: /
A HT I 3R rarE At & i FHe 9w
(a) Krebs’ cycle / W oOsh
(b) EMP/glycolysis / SUHUI/IcShicNeiad
» (c) oxidative phosphorylation / JrasfeT W\JITWIEF}QIFT
(d) pPpp / YAy
The dough kept overnight in warm weather becomes soft and spongy due to: /
I AFA 7 AR IW@T I AET RA AR TS @ AT g
(a) absorption of CO2 from the atmosphere / amgqg?»r ¥ CO2 T 3aeNyur
(b) imbibition / BT
(c) fermentation / fohuae
o (d) all of these / S8 & F|
In PS II, active chlorophyll is: / 90 II H HfhT FaARIGA &:
(a) P680 / 680
(b) P700 / Hr700
L | te) BET3 / 9673

(d) P720 / ©r720]|




17

Photosynthesis in C4 plants is relatively less limited by atmospheric CO2

because: / C4 Ul H Yohel HLAVUT W co2 & 34'@&111% FH AT ?IT-IT % FiTeh :
(a) there is effective pumping of CO2 into bundle sheath cells / CO2 Gl
gsar ofry AT A gordy &7 F 99 FRam Srar g

(b) RuBisCO in C4 plants has a higher affinity for CO2 / C4 gt # RuBisCO
#r co2 & fow 3w cATar xdr 2

(c) four carbon acids are the primary initial CO2 fixation products / dR-

FIeeT 3FdT YRTAF co2 TEUdIor 3cure g &1

(d) primary fixation of CO2 is mediated via PEP carboxylase / CO2 <l

grrfAe FEudleor pep Feffadcsl & ACTH I gdr 2

18

Which hormone plays an important role in phototropism? / HieT AT E'ITﬁFT
ThTMTATIATT & HgeaquT ${fHehT fHemrar g2

(a) Gibberellin / foeRfereT

(b) Auxins / 3ifeEeq

(c) Ethylene / TielleT

(d) Cytokinin / HIScIHhSfeleT

19

Which plant hormone overcomes the natural dormancy of buds, tubers, and

seeds and allows them to grow? / HieT Ir gier awﬁ?r FHfordr, Fer IR Gt & EI'ITT?I%
GrATaEAT T FACT I 3o d6a T AT & g2

(a) Auxin / 3iifedeT

(b) Ethylene / WBEIGE

(c) ABA / UHIT

(d) Gibberellin / foaRforeT

20

Removal of the auxin source demonstrates that leaf abscission is by

auxin, and apical dominance is by auxin. / T AT & &< ¥ T
Sefdd grar § T ool &1 3rerama 3ffferdeT ganT fohar STar 8, 3R MY weea
AT garT foram ST 2l

(a) promoted, promoted / ST f&ar a=m, sorar fear s=r

(b) inhibited, inhibited / &Tf&d, STfad

(c) promoted, inhibited / deldl fe=r EIR2| 8 CHGL

(d) inhibited, promoted / EIT@?T, EIE'IT:lTﬁE’JIT aar

21

Which one is the correct sequence in glycolysis? / ?T»nsaﬁasﬁ'aﬁr gl B
T B2

[ PEP [ 3PGAL [-» 3PGA

[~ 3PGAL [-» 3PGA [L. PEP

[l- PEP [, 3PGA [I-» 3PGAL

P
P
P
P [-» 3PGA [J-» 3PGAL [ PEP

a) -6-
b) G-6-
c) -6-
d) G-6-

—~ o~~~

22

Pyruvic acid + Co-A + NAD+ - Acetyl Co-A + CO2 + NADH + H+. This reaction
is known as: / 9rafde 37Fel + Co-A + NAD+ — QF‘IEIE(‘*I Co-A + CO2 + NADH + H+.

39 TRIRAT FT FEd §:




(a) Pyruvate oxidation / gyde feases
(b) Link reaction / IGEIGIEIE 221

(c) Both (a) and (b) / @Ml (a) 3 (b)
(d) None of these / W q aﬁg TRl

Which hormones stimulate the production of pancreatic juice and

bicarbonate? / Hid A E'I?:ﬁﬂ' TR W 3R a'l's';EFITq;fﬁE' & IcUIesT H 3atord Ha 82
(a) Angiotensin and epinephrine / o @a 3R vfiahe
(b) Gastrin and insulin / m 3k 3111%!7{
(c) Cholecystokinin and secretin / ﬁﬁ»@?—‘dﬂgﬁmaﬂi ﬁl—;ﬁﬁ?f

23 C
(d) Insulin and glucagon / s lefel k> iry JofehldTet
In the given diagram of the breathing mechanism, what do A, B, and C
depict? / 28T dF & feU a0 3@ & 2, B 3N c F T &7
A
;l.
ﬁ?{m- =
H“«;;f;f{?f'c';,%ﬁ The volume of the thorax decreased
wé;f' A I} B
i Ties
= .;‘-:Q?
\ _'iN:}-':‘.:
da Z&%ﬁlr goes inside the lungs, B-Ribs and sternum return to the
or .ﬁ@al position, C-Diaphragm contracted / A-TY hhel H ST B,
p-dferar AR qeifey el Her Fufa & dled 8, ¢z Fgfd|
(b) A-Air expelled from lungs, B-Ribs and sternum returned to the
original position, C-Diaphragm relaxed and arched upward / A-dIY
bl & aeX fAwerdy 8, B-uafadr iR garfey roel Ao fFufa 7 &iea §, c-
srmpTA fRfAer 3R S A1 3T AT g3
(c) A-Air expelled from lungs, B-Ribs and sternum go upward, C-
Diaphragm relaxed and arched upward / A-dlg hHel ¥ gl feeldr g,
B-uaferdl 3R qeIffy FW &1 3T o §, c-srIwhA RS 3R W AT AR A3
§3-1T|
(d) A-Air goes inside the lungs, B-Ribs and sternum go upward, C-
04 Diaphragm relaxed and arched upward / A-dAlg Bl H STdr %‘, B-g&ferm
3R eIy W B AT oA &, c-SEpE R 3R IR A AT A g3
After forceful inspiration, the amount of air that can be breathed out by
maximum forced expiration is equal to: / EIT*I'C@EF IO & dr, 3Tdhdse EIT*I'C@EF
TH AT SeX AT et arell a1 hr AT & SRR gl o
(a) IRV + ERV + TV + RV
(b) IRV + RV + ERV
25 (c) IRV + TV + ERV
(d) TV + RV + ERV
26 Arrange the following parts of the nephron sequentially and select the

correct option accordingly: / AWIT & AFATT@d A I FHHIR IIredd Y 3R




e faeed ol

. Glomerulus / JollHGCH

. Ascending Henle’s loop / RET galer &l GAl

. Descending Henle’s loop / 3arer gﬁﬁ'aﬂ'ﬂy

. Proximal convoluted tubule / fAdcEd ivsrad CIRED
. Collecting duct / HIGOT Afelel

. Distal convoluted tubule / ngu'iﬁﬁaa'aﬁﬁaw

o O w N

I - IT - IIT - IV -V - VI
I - IV - IIT - ITI - VI -V
I->1I1IT -1V - IIT -V - VI

(a
(b
(c
(dy VI - III - II - I - VI -V

—_ — — —

Choose the mismatched part of the nephron and its function: / ﬁﬁﬁﬂ'%??ﬁﬁT

S T H1eT AR 3TH HT H IIT HL
(a) Bowman’s capsule-Glomerular filtration / AT Fr éﬂ?ﬁq—Tﬂtﬁ3ﬂT
foreaeaT

(b) PCT-Reabsorption of Na+ and K+ / ﬁﬂﬂéﬁ—Na+—3ﬁT K+ ol gﬂiﬂaﬂﬁﬂﬂ
(c) DCT-Reabsorption of glucose / SIEICI-Tofehlel &1 Tei:3TaRITUT

27 .
(d) Loop of Henle-Urine concentration / gelel &I od-HF hT HIGUT|
Identify A, B, C, and D in the given diagram and choose the correct
option / f&U 91T 3IR@ # 2, B, C 3N D & YgdE IR T fAhod o
A
B %\-c;?’c
&
- —
D
(a) A-Actin binding site, B-ATP binding site, C-Head, D-Cross arm
(b) A-Actin binding site, B-ATP binding site, C-Head, D-Side arm
28 (c) A-Actin binding site, B-ATP binding site, C-Head, D-Long arm
(d)

A-Actin binding site, B-ATP binding site, C-Head, D-Short arm




Given below is the figure of a sarcomere.

A to D and select the correct option / A greefaR &1 Ry fear = %I A "D
deh oidel fRT T ATel Y ggarel 3T HEr e o

Identify the parts labeled as

f A D
L o i Toag
G O e Toi0
o e Ty
A B C D
(a) | A-band Z-line H-zone I-band
(b) | A-band H-line Z—zone I-band
(c) I-band |H-line Z—-zone A-band
2
7 (d) | I-band Z-line H-zone A-band
Select the correct option to represent A-E in the given structure of a
neuron / f&T 9T #T WA H A-E H TEdd FaA & v TE fhod T4 :
a2 0 (g
B Y/ "
f
‘1-
|
C—
FI
i ]
N7
{
E«-‘Z'f:}:%
(a) A-Dendrites, B-Cell body, C-Axon, D-Node of Ranvier, E-
Synaptic knob
A-S38eH, B-U §18I, C-UHAld, D-IAR A5, E-fAeiftes Al
(b) A-Axon, B-Myelin sheath, C-Schwann cell, D-Node of Ranvier,
E-Axon terminal
A-UFHlT, B-HAMITT A, C-2d HIAPI, D-TAAR 13, E-UFHieT clateldl
(c) A-Dendrites, B-Cell body, C-Schwann cell, D-Node of
Ranvier, E-Synaptic knob
A-S38eH, BT §18I, C-@TT HIADI, D-IEER a8, E-eiftesw aia
(d) A-Axon, B-Cell body, C-Dendrites, D-Node of Ranvier, E-Axon
terminal
30 A-TUSdlT, B-Wol 18I, C-336¢H, D-IAAR A8, E-UFAld ciiedd

31

given

Identify the parts labeled A to E and choose the correct option for the

diagrammatic representation of reflex action showing knee-jerk

reflex / Heal-gica Sfafsar @ arel Wrads fhar & 3R@TcHs e & fow a
¥ E d& & AR A ggare X AR @@ Reew g4




A-Dorsal root ganglion, B-White matter, C-Grey matter, D-

erent pathway, E-Efferent pathway

) A-Dorsal root ganglion, B-White matter, C-Grey matter, D-

Efferent pathway, E-Afferent pathway

) A-Dorsal root ganglion, B-Grey matter, C-White matter, D-

Efferent pathway, E-Afferent pathway

(d) A-Ventral root ganglion, B-White matter, C-Grey matter, D-
Efferent pathway E-Afferent pathway

(c

Identify different endocrine glands in humans (A-H) / Fﬁfﬂﬁ'ﬁ'ﬁﬁﬁ?ﬂ'ﬁFﬁaﬁﬁ

F
H
(a) A-Pline B-Hypothalamus, C-Pituitary, D-Thyroid and
Parathyroid, E-Thymus, F-Adrenal, G-Ovary,
H-Testis
(b) A-Hypothalamus, B-Pineal, C-Pituitary, D-Thyroid and
Parathyroid, E-Thymus, F-Adrenal, G-Ovary,
H-Testis
(c) A-Hypothalamus, B-Pineal, C-Pituitary, D-Thyroid and
Parathyroid, E-Thymus, F-Adrenal, G-Testis,
H-Ovary
32 (d) A-Hypothalamus, B-Pineal, C-Pituitary, D-Thyroid and
Parathyroid, E-Adrenal, F-Thymus, G-Testis, H-Ovary
Identify A to D in the given figure and choose the correct
combination./ &r 31%' Hﬁ?ﬁ H A ¥ D H ggdr«av iR T&r TdreteT ﬂoi?'lQI
A
(a) A-Hypothalamic neurons, B-Hypothalamus, C-Portal circulation,
D-Posterior pituitary
(b) A-Hypothalamus, B-Hypothalamic neurons, C-Portal circulation,
D-Posterior pituitary
33 (c) A-Hypothalamus, B-Hypothalamic neurons,

C-Posterior pituitary, D-Portal Circulation




(d) A-Hypothalamus, B-Hypothalamic neurons, C-Posterior
pituitary, D-Neurohypophysis

The cell wall of plant cells
(a) provides protection

(b) helps in cell-to-cell interaction
34 (c) provides a barrier to undesirable macromolecules
(d) All of the above
Plastid differs from mitochondria based on one of the following features.
Mark the right answer / Tolll€cs H@TI"%{HT o Arafaf@d RAvanRt & @ & &
YR W &eeT g1 Fe1 3TN oA :
(a) The presence of two layers of membrane / %ﬁﬁ' Fr ar qdr &
ERITSIR]
(b) The presence of ribosomes / TIEE’I@TT@' 3ufeafa
(c) The presence of thylakoids / Wﬂlﬂﬁg@}l’ﬁ 39fEufa
> (d) The presence of DNA / 3ITAT Fr sufeafa
Consider the following statements and choose the option containing the
correct statements./fAFAfaf@d YT W AR FN 3T TE FUT gl AheT a1
ol |
I. The endomembrane system includes plasma membrane, ER, Golgi
complex, lysosomes, and vacuoles./ USIHEA QTed 7 ToreAm %ﬁh’,
SR, el diFEcaldd, asa@d 3T RiFasn enfae &
IT. ER helps in the transport of substances, and the synthesis
of proteins, lipoproteins, and glycogen. /§3-TIT gerdt & gRage 3R
WM, fadde 3R TSRS & TLAVUT F HAge AT ol
IIT. Ribosomes are involved in protein synthesis. /Tlgeﬂw Tt
HROWUT H QA gl gl
IVv. Mitochondria helps in oxidative phosphorylation and
generation of ATP. /HW%HT JrerEsfea mglﬂﬁ Tadr &
3cqiesT H HAce &dT gl
36 (a) I, II, IITI, and IV (b) Only I
(c) Only II (d) Only IIT
Select the secondary metabolites from the list given below / A & 31'&“:' H\?ﬁ
¥ gfads I 3cUIET ST TIT Y :
e 1. Alkaloids / Uchalssd
e II. Flavonoids / Feldldissd
e III. Rubber / I
e IV. Essential oils / 3Ta2dqeé ool
e V. Antibiotics / UIaRAIfecHd
e VI. Colored pigments / TN W[ged
e VII. Scents / Qﬂ_?TU
- e VIII. Gums / g

e IX. Spices / HdTel




(a) I to IX / I ¥ IX

(b) All except II and IX / II 3R IX & ®ISH Tl
(¢) I, III, IV, and VI / I, III, IV 3R VI

(d) All except I and VII / I 3R VII &I BIgHT T@ofr

According to Watson and Crick's model of DNA / gieqsT 3T forem & ATAT HAST &
SRS IS

9
(a) DNA exists as a double helix / 3IUAU Udh S ?ﬁw & T H 'cFﬁG;@' %"
(b) The two strands of polynucleotide are antiparallel to each
other / Uleleg(FecIss &I &1 HWATT TH-GEX & [audid faem 7 gl §

(c) The backbone is formed by sugar and nucleic base / deaie 9T 3k
~gfdeieh 98 @ «ei gl ¢

38 !
(d) Both (a) and (b) / (a) 3R (b) &l
The bond energy of which of the following chemicals is the most important
form of energy currency in living organisms? / afefaa & @ g gaafas
TSI T 9Y Fol Sfidl F FoA AT & GOH HecdqUl ®9 H GfaAfed HCr 87
(a) Adenosine Triphosphate (ATP) / USHlT&Hel CISHITHE (ATP)
(b) Nicotinamide Adenine Dinucleotide Phosphate (NADP) / iﬁ$|iéﬂlﬂl$§
TSI SSegfFeldIciss BIEhS (NADP)
(c) Flavin Adenine Dinucleotide (FAD) / Wolldel USHISe SiSeyiFordlcIss
39 (FAD)
(d) None of the above / 3Wied H & Elflé' F@'
Choose the correct statements regarding the cell cycle / HIAPT Teh & FEY
H T FUAT T TTeT H:
(i) M-phase is also called the resting phase because DNA replication
does not occur during this phase / M-dIUl T T IXOT Y gl AT &
Fifh 6 TROT & NI Jruaw gfasfa 787 il &
(ii) Interphase is the time during which the cell is preparing for
division / Sc{thel 98 AT § T RIAHT AT & fov AR & W v &
(iii) The interphase is divided into four prominent phases, i.e.,
GO0, Gl1, S, and G2-phases / 331¢3| FI IR 979 o H fIanfaa foear = %’:
G0, G1, s, 3R G2-TOT
(iv) Interphase represents the phase between the two successive M-
phases / 3eThol I TR M-IRON & &I T ILOT &
The option with correct statements is / H&l &UAT F 1T faseq g:
(a) T and IV / T 3R 1V
4o | P TT and III / 11 3R 111

(c) T and IIT / 1 3R 111




(d) IT and IV / I1 3R 1V

ANSWER

1.Mosses along with lichen are of great ecological importance because
(d) All of the above / 3WIed T

2.Gemmae are asexual buds, which originate from small receptacles called
gemma cups. These are found in

(b) Marchantia / HATIRT|
3.Which of the following statements is false for ascomycetes?
(b) Thallus of Ascomycetes has aseptate, unbranched hyphae / UFaﬁ?ﬂgﬂFRT

a1 dorm foar aafaa 3R fo=r em@nsit arel &as SArer &1 g gl
4.Gymnosperms are characterized by

(b) Seeds not enclosed in fruits / Bl H §¢ H’éﬁ# aret S|
5.Biodiversity can be best defined as

(d) totality of genes, species and ecosystem of a given region / foraY

few a1w & & S, weirferdl iR aIRTELfeRRr T 1 Hel TNl

6.Which of the following is against the rules of ICBN?
(d) Generic and specific names should be written starting with small

letters / @3 3R Gollfd oTH BIC 3HeR ¥ Y& fhT S =gl
7.Choose the incorrect statement.
(a) Notochord is ectodermally derived rod-like structure. / ACIRre

TaeIsH ¥ egcUedl B35 St EEeT gl

8.In an inflorescence, where flowers are borne laterally in an acropetal
succession, the position of the youngest floral bud shall be:

(b) distal / Gl
9.Which of the following statements is correct?
(c) Asymmetric are irregularly symmetrical flowers. / 3N¥Wﬁ??ﬂﬁq

IAAT &7 & GATAT 81 &

10. Which one of the following differentiates plant cells from animal
cells?

(a) Large vacuole, plastid and cell wall / ﬁﬁ'ﬁﬁ?*?ﬂ TolTfEes 3R ST
faf

11. The most abundant lipid in the cell membrane is:
(a) phospholipid / BIEHITATUS]

12. Enzyme catalysts differ from inorganic catalysts in which way?
(d) Both (b) and (c) / @l (b) 3R (c)|

13. The lock and key concept explains the interaction of a particular

enzyme molecule with a specific substrate molecule.
(a) True / "Il

14. The common phase between aerobic and anaerobic modes of respiration
is:
(b) EMP/glycolysis / SUHUI/TSHISAT]

15. The dough kept overnight in warm weather becomes soft and spongy
due to:

(c) fermentation / fohuad|
16. In PS II, active chlorophyll is:




(a) P680 / @680l
17. Photosynthesis in C4 plants is relatively less limited by
atmospheric CO2 because: / C4 Wl H YehIRl HRAIVUT GIHASIT CO2 & IHU&Tehd

A AT gar § it
Answer: (a) there is effective pumping of CO2 into bundle sheath cells

/ Cco2 I g3 MY HIAFHRN F wordy & I 99 A F1ar gl

18. Which hormone plays an important role in phototropism? / $isT AT
gIHTeT SehIRMTATAATT H HecaqoT fAhr fovsirer g2
Answer: (b) Auxins / 3feged

19. Which plant hormone overcomes the natural dormancy of buds,

tubers, and seeds and allows them to grow? / Pl AT Gler E'I?:ﬁ?-r EFF@I'CIT, Har
3R AT & Trhfdeh GedTaedT T FATCT F 3og 6ol @l AT ol g2
Answer: (d) Gibberellin / TSteRfer

20. Removal of the auxin source demonstrates that leaf abscission is
by auxin, and apical dominance is by auxin. / JTfRaeT ara
H g A Ig USRI giar § T o= & 3feena JifFEe gan foram e g,
3R MY yegea 3ifFE=T eanry foram e &
Answer: (d) inhibited, promoted / EleEIFI', Sorar fear |
21. Which one is the correct sequence in glycolysis? / doilsch\ldl$f{:|{-l H

HET HH FT g2

Answer: (b) G-6-P [-» 3PGAL [ 3PGA [J» PEP
22. Pyruvic acid + Co-A + NAD+ - Acetyl Co-A + CO2 + NADH + H+. This

reaction is known as: / URITde 31Fd + Co-A + NAD+ — Qﬁlalsﬂ Co-A + CO2 +
NADH + H+. 38 JfRFHAT I Fgd 8
Answer: (c) Both (a) and (b) / @il (a) 3R (b)

23. Which hormones stimulate the production of pancreatic juice and

bicarbonate? / il ¥ AT =gl I 3R Gllschlsﬁo:IC % IcUTesT &l 3afold ld
g2
Answer: (c) Cholecystokinin and secretin / mﬁmgﬁﬁﬁ'{ ﬁ%ﬁﬂ'

24 . In the given diagram of the breathing mechanism, what do A, B, and
C depict? / @9 dF & feU 0 3@ & 2, B 3R c FT AT &2

Answer: (b) A-Air expelled from lungs, B-Ribs and sternum returned to

the original position, C-Diaphragm relaxed and arched upward / A—EI'I'<’3I"9
sl A aeY et §, B-gaforn 3 qarf@y rvel Hor feufa & dteq &, c-srme&A
faIfarer iR FW &1 3R AT 37

25. After forceful inspiration, the amount of air that can be breathed
out by maximum forced expiration is equal to: / ar»rqgﬁa: OO & diq,
3w JoqdH 2aHT @RI STeX fATel ST arelr arg T AT & e Bl

Answer: (c) IRV + TV + ERV
26. Arrange the following parts of the nephron sequentially and select

the correct option accordingly: / AWIT fAFATITET HEN I HHAIR TITEAT
A AR F@E e |
Answer: (b) I - IV > III - II - VI - V

27. Choose the mismatched part of the nephron and its function: / %Pl




& IeId SIS T H9T IR 3TF PR FT TAT |

Answer: (c) DCT-Reabsorption of glucose / W—WW %H:HHQWUT

28. Identify A, B, C, and D in the given diagram and choose the
correct option: / feu T INT H A, B, C I D Eﬁmﬁ’ﬁ?ﬂﬁ'ﬁﬁw_«qﬂﬁl
Answer: (b) A-Actin binding site, B-ATP binding site, C-Head, D-Side

arm
29. Given below is the figure of a sarcomere. Identify the parts

labeled as A to D and select the correct option: / I gAY @ = fear
I §l A @ D Th ol fhT aw et T ggE AR FE Ao ol

Answer: (a) A-band, Z-line, H-zone, I-band
30. Select the correct option to represent A-E in the given structure

ofaneuron:/ﬁWWWﬁA—EﬁWW%WWW%ﬁI

Answer: (a) A-Dendrites, B-Cell body, C-Axon, D-Node of Ranvier, E-
Synaptic knob

31. Identify the parts labeled A to E and choose the correct option for
the given diagrammatic representation of reflex action showing knee-

jerk reflex: / @—Wmmmwm%mm
& T A @ E dF & ol f ggae IR A Ao I+

Answer: (a) A-Dorsal root ganglion, B-White matter, C-Grey matter, D-
Afferent pathway, E-Efferent pathway

32. Identify different endocrine glands in humans (A-H): / mgrzfr p=
AfFesT ra:amEr Ifdai (a-H) T gga HI
Answer: (a) A-Pineal, B-Hypothalamus, C-Pituitary, D-Thyroid and

Parathyroid, E-Thymus, F-Adrenal, G-Ovary, H-Testis
33. Identify A to D in the given figure and choose the correct

combination: / & IE 3MHid H A & D &I Ygailaw 3R FE HAGA FiAv|

Answer: (b) A-Hypothalamus, B-Hypothalamic neurons, C-Portal
circulation, D-Posterior pituitary.

34. The cell wall of plant cells provides: / gt T Fifer AT vereT FAr

Answer: (d) All of the above / 3Wiad T
35. Plastid differs from mitochondria based on one of the following

features. Mark the right answer: / Colli¥es HSCIhIesdl & fAFdAfafad
AVt & & v F YR W Bewt §1 A& 3IW -
Answer: (c) The presence of thylakoids / maﬁﬁssxr $r 3urEyfa|

36. Consider the following statements and choose the option containing

the correct statements: / [aFafaf@d YT W R & 3K T YA drel
Rrared 1 ot
Answer: (a) I, II, III, and IV.

37. Select the secondary metabolites from the list given below: / A &r

TS G ¥ gfadae TATd 3curel T aIT F:
Answer: (a) I to IX / I ¥ IX|
38. According to Watson and Crick's model of DNA: / areqd 3R fre &
ATAT ASA & 3TN :
Answer: (d) Both (a) and (b) / (a) 3R (b) @il

39. The bond energy of which of the following chemicals is the most
important form of energy currency in living organisms? / efaf@aa &




¥ TrE TS e T U ol Sidl # Fofl Hel T &8 Agea ol &9 g:
Answer: (a) Adenosine Triphosphate (ATP) / @a’@?rz:gq»‘”r@»—c (ATP) |

40. Choose the correct statements regarding the cell cycle: / HIfAT TH
& T H TE HYAT H TIA B

Answer: (d) II and IV / II T 1v




